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<?php
$array = array(‘welcome’, 'to', 'php', 'array’, 'learning");
$check = is_array($array);
if($check == true){
echo 'true’;
by
else{
echo 'false’;
by
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<?php
$array = array('welcome’, 'to', 'php', ‘array’, 'learning');
print_r($array);
?>
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Array

(

[0] => welcome
[1]=>to

[2] => php

[3] => array
[4] => learning
)
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<?php

$string = 'welcome to php array learning’;

$convert = explode(' ', $string);

print_r($convert);
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[0] => welcome

[1]=>to

[2] => php

[3] => array

[4] => learning
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<?php
$string = 'welcome to php array learning’;
$convert = explode(' ', $string, 3);
print_r($convert);
?>
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(
[0] => welcome
[1]=>to
[2] => php array learning
)
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<?php

$array = array(‘welcome’, 'to’, 'php', 'array’, 'learning");

$convert = implode(' ', $array);

echo $convert;

?>
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<?php
$array = array(‘ali' => 3, 'pedram' => 6, 'maryam' => 5);
$change = array_change_key_case($array, CASE_UPPER);
print_r($change);
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[ALI] =
[PEDRAM] =
[MARYAM] =
)
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<?php
$array = array('a', 'b', 'c', 'd', 'e');
$chunk = array_chunk($array, 2, false);
print_r($chunk);
?>
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[0] => Array
(
[0] =>a
[1]=>Db
)

[1] => Array
(
[0] =>c
[1]=>d
)

[2] => Array
(
[0] =>e
)
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Array
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[0] => Array
(
[0] =>a
[1]=>Db
)

[1] => Array
(
[2]=>c
[3]=>d
)

[2] => Array
(
[4] =>e
)
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<?php

$arrayl = array('a’, 'b', 'c', 'd', 'e");

$array2 = array('55', '23', '43', '12' , '98');

$combine = array_combine($arrayl, $array2);



print_r($combine);

?>
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Array

(

[a] => 55

[b] => 23

[c] => 43

[d] => 12

[e] => 98

)
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<?php
$array = array('a’, 'b', 'a', 'd', 'b'");
$count_value = array_count_values($array);
print_r($count_value);
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Array
(
[a] => 2
[b] =>2
[d]l=>1

)
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<?php

$arrayl = array('Tehran’, 'Fars', 'Markazi', 'Gilan' , 'Esfahan');

$array2 = array('Tehran', 'Qazvin', 'Markazi', 'Gilan' , 'Khouzestan');

$array_diff = array_diff_assoc($arrayl1, $array2);

print_r($array_diff);

?>
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Array

(
[1] => Fars



[4] => Esfahan
)
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<?php
$arrayl = array('Tehran' => 12, 'Fars' => 45, 'Markazi' => 33, 'Gilan' => 47 , 'Esfahan’' => 51);
$array2 = array('Tehran' => 16, 'Qazvin' => 32, 'Markazi' => 39, 'Gilan' => 48, 'Khouzestan' => 51);
$array_diff = array_diff_key($arrayl, $array2);
print_r($array_diff);
?>
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Array
(
[Fars] => 45
[Esfahan] => 51
)
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<?php
function value_compare($a, $b){
if ($a === $b){
return 0;
b
return ($a > $b)? 1:-1;
b
$arrayl = array("lang" => "fa", "page" => "index", "date" => "2012", "10", "03", "10:40");
$array2 = array("lang" => "fa", "page" => "index", "date" => "2013", "16", "03");
$result = array_diff_uassoc($arrayl, $array2, "value_compare");
print_r($result);
?>
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Array

(
[date] => 2012



[0] => 10

[2] => 10:40

)
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<?php
function key_compare($a, $b){
if ($a === $b){

return 0;

return ($a > $b)? 1:-1;
by
$arrayl = array("lang" => "fa", "page" => "index", "date" => "2012", "10", "03", "10:40");
$array2 = array("lang" => "fa", "page" => "index", "date" => "2013", "16", "03");
$result = array_diff_ukey($arrayl, $array2, "key_compare");
print_r($result);
?>
>S90 e ;5 JSow a4 YU Jbo (s>
Array

[2] => 10:40
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<?php

$arrayl = array(0 => "a", 1 =>"b", 2 => "c", 3 =>"b");

$array2 = array(0 => "a", 1 =>"b", 2 => "f");

$result = array_diff($arrayl, $array2);

print_r($result);

?>
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